Wokd  ¥8'STT yoaoduryaddoy WoLahA 3 :p1ohA WedogudL ou 0IOLK
] 'wew) 6508 sioaodniiaddon WoLshA 2 :e1ahA wedogudu ou 0101
reny  [0°0- = D, 1£0 \avos voHTowox AdALedauwal eH exaoduiaddoyn
i 73 uremasdu vouday
i m -/ :Adosoiol ou eranded Youdall
1 ylreimgadiou RiehaU wght AwaHIradD Ou MISHHELMKIOE ‘KURLDOHOULAL W50
{ (euHaHOgE 10) MnidaHe xomo_.amr MINHHRELILIELO e | AWaHDd) 0L SOHHELUR2Ed ‘MMIGSHE MOBOLLBL CALISHULTH
01£3 :AwaHtadd ou etanded Tondall
H| : i = “ 0T'ErS - 0L°LLT # TUezv | 98'6S80C | PTLLZET 00:50 9L°ZT'ET A et
W - | __ 5579k - 26’0922 - Se'otzz | Le'vsest | S6'1STIZ 00:90 91" IT'EZ DAHHE B
s |1| HIWOW BH S0MMh13h) BUHRERMNOL]|
h'gedl (ex) D84 O (ren) oD O] (eW)pn | (ew)en | (b | (EW (L)zw [ swada ‘eLelf
v
\ 998 000 000 L6'9T | oo || vestz | 000 | wBSTZ 000 000 £8'60C 8969 i s 19'6T_| 66481 088602 : 00'0zL oJoLy
69'T = = £5°0 = 19'18 = 61'L ¥ 61'L = & 669 ZI'T 00'S 00’2 S8'TE 15°0S 2b'e8 ZE'L +9'29 96'69 = 00'+T SaHTad)
70'1 2’0 - A | - (£'6 - £'6 - - LT ¥5'0 00's | oo’z | vv'ez | ozze AT v9'SL 19'7 95'vE A~ BULE - foove | ovzrz
7 'z €50 H 9L'6L - 289 5 28'9 - = 59’9 16T 00’'s 002 L6'0E ¥0'6b 1008 Sb'9 91'79 19'89 % 00'¥2 9T II'TZ
T 150 & 90'6L & 8E'L 3 8et - = 0z't 06'T 00'S 00°Z 8L°0€ 6’ LY 1474 £0°L ¥£'29 LE'69 " 00'vZ 9T ZI'0Z
0s'T 6v'0 5 1248 = €48 = £4'8 - * 65'8 10T 00's 00°2L 8T LT 18°0S 60'8L S6'E 0S'EP SY'ip 5 00'+Z 9T'ZI6T
88'C £9'0 - 8¥'S8 - 65'L - 65'L . - SE'L 44 00's oo's | s6'ze | 06'eS 58's8 80'8 £0'99 STyl > 00'vZ 9T'ZI'81
S8'7 #5°0 - S7'98 5 15'9 = 159 - = 1£'9 4 00'S 00'Z 6S'EE 79'€S ) rafic] or'sL 0v'99 08'€L 2 00'vZ QT ZT'LT
+6'T 550 - 1818 5 S#'9 = S¥'9 & = +2'9 6E'T 00'S 00°L 8'vE 85'es 0v'88 0L 6£'99 WEL - 00'¥2 91'Z19l
S0'E €50 - 6868 = 509 = 50'9 = = s8's 00's 00'L SL'9€ 0z'¥S S6'06 199 12'99 882 - 00'¥Z 9IZI'ST
e 250 - 55'16 = £6G = £6'S & = zL's 00's 00t 99'LE Y'S 80'T6 89'9 zv'99 OT'EL = 00'v2 9T ZI'vl
61'E 19'0 - vp'06 2 €0°L = €0°2 # % 08'9 L8°T 00's 00'z | OE'LE 19'€S £6'06 06'L S6'S9 SB'EL - 00'¥2 9T Zr'eT
- Fae [SORETIE ) G T =l 9£'68 - 8k'9 - 8’9 - 9z'9 05T 00'S 00’ §or9e | 887 $9'68 E'L 9’59 89'2L - 00'v2 91'ZT'ZL
90’ 59'0 & +8'/8 ¥9'L “ 'L = 3 W' ~o¥'z | 00's 00'L +9°SE £5'TS 12’88 '8 9L'v9 BIEL & 00'vZ 9TZT'Tl
68'7 250 = 86'58 = 189 = 189 = = 099 Ze'T 00'S 00'L EPbE 08°1S €7'98 L5 89 BETL - 00'¥2 9T ZI 0T
9T (50 = L€'S8 = 16'9 - 16'9 2 = 19 62T 00°S 00'L $S'EE 6275 £8°s8 €8'L T's9 SO'EL - 00'¥Z 91'ZT'60
26'C z9'0 5 50's8 & 08t - 0s'z = = 87'L 0€'e 00'S 00'L 66'EE 'S 'S8 sz's 8159 EP'EL - 00'¥2 91'Z1'80
S6'T 090 = 09'F8 z 8zt - 8L = = S0°L SE'T 00's 00'L T6'PE 01'0S 20's8 or'g £5'%9 [9'TL = 00'¥2 91°Z1' L0
16T 2 85°0 E '8 T £6'9 - £6'9 T 8£'9 ££°C 00's 00°2 6L'bE 8£°0S £1'S8 (e w9 6L'TL = 00'vZ 91°Z1'90
S8'C 95'0 5 19%8 = £L'9 - 1r'9 - 95’9 62'C 00's 00’ 9E"pE 8.'0S +1's8 6b'L 97’9 SL'TL - 00'vZ 91'ZT'S0
66 990 - 12's8 108 - 108 = 7 8L/t £€£'T 00'S oo’z | es'se | 01’08 79's8 19'8 OT'E9 LETL - 00'v2 9T'TI%0
87 95'0 = SE'S8 s €49 = €29 = £ 259 8e't 00'S 00°L ¥9'vE 15 <8's8 £€'L 69°€9 20'TL = 00'+E 9TTIe0
't 96’0 2 SZ's8 = 2s's = 7s's E = SE'S 0€'C 00's 00'L 18'%E 00'1S 18’58 ze'9 LL'€9 66'69 - 00'¥Z 9TZT'Z0
£8'T 65°0 5 71's8 g 60'L - 60'L = - 06'9 8T 00's o0t | 99've | 98°0S 25's8 L2l 85'€9 SE'TL 5 00'v2 9T'ZI'T0
287 +5°0 E [as] = £9'9 = £9'9 T - 7¥'9 £2'T 00's 002 09'vE 87'0S 88’8 'L 15°€9 82'0L = 00'¥2 9T'TI'0E
6'C #9'0 & r'%8 - vl = vt E - 'L 0g'? 00's 00'2 06'vE 26'6F 88 6E'S 09'E9 66'TL " 00'vZ 9T IT'6C
€L'T 65'0 = 95'18 F 'L = 'L = - 12'L 1T 00's 00'L €92 +6'8% £5'18 £8'L 0%9 S8'TL = 00'vZ 9T'IT'8Z
£9'T 69'0 z £6'LL - 606 - 60’6 5 - 93's $6'T 00'S oo’ |oc'st | TT'sy 86'LL b6 05'€9 66'2L - |oo've T4
SH'T 19°0 7 £7'SL - 9€'s . 9e'8 2 = ¥1'8 ¥’ 00'S oo’ | 19'se | oc'or 16'%L 99'8 96'29 29'TL o 00'v2 9119
61'C Sb'0 = £€5°2L - 's = ' " - ¥2'9 wL'1 00'S 00’z STLT 8T'sy €52 w9 £5°29 1€'69 g 00'v2 9T'IT'Se
62'C 550 s v0'TL - 9Lt = 94t = - 19°L #L'T 00's 00'L 96'9C LE'SY e 00'8 0£'€9 0E'TL o 00'¥2 9T IT'vT
|44 : 250 2 S6'TL - £8'9 g £8°9 - = 19’9 £L'T 00's 00°L 60°L2 81'Sk L2 002 86'29 86'69 = 00'¥2 9T TTET
e e e —
ety “Ued e | uen ] o] 5] "W .ﬂm.z QAW W & 1 L uei ] ZWOpL | ZWapul 2). ) J i 1 1. JBh
‘mgo D Eeteciie] v o) | moosad | vl ‘el | uwoup § SRIAP #A EA ‘Wp P ‘EW uoLod) zd Td ‘p 41 L ‘WP o ‘T oH uL eielf
SaiouoitiaE SIHHEY DK diHoy (z-91) D81 19hA (1-9.L) PUHBLILIOLO 19hK
M50 9107 17 OU 9107 11°E¢ 3 WOMdaU WIAHIOR1O MWMATITRdU Bt aMHIUGALOL S0MIShH.L
8b'7=0810 0="10U" X319 0="1Ha89 +'05=109 T 1oL (" LAo-dd) 1atfoxoed aiaHdogoJol|
1900 =d2281D =dr281eLD 1oeh/uex ) “(oehdd) wieAdlen srkdogolol
ZHET'0=2010 ="10U"X3UD) ="1H38D £9T'0=100 13eh/urex ) “ineAdieH 219Hd080J0T |
(XU 7U )7 W-(8XU-TU)« TW=() 20131 (BXU-7 )7 - (BXU-TU) L IW=C) TeWHE IWLMJOIUR MISHLOhOBd
:suHawserdgoady ::dgoaduowdal =Xews =upD :daworoxoed 1(sA)wiLmuTou-dL
:suHaUaer-dgoadll goaduowdal =Xews) =upn :dawoncoed s(p)oaldundL
sguuaLaet-dgoady H-u2L :"dgoaduowdal ZL =xew9 1Z0'0 =ulw9 07 Wedy :daworrooed ((gW)oal o-dr
:suHaLEeTdgoady H-LDLi dgosduowdal 08 =Xews 190'0 =uwo 0% WEdL dawovooed :(zw)dLHiedoO
:suHavser-dgoady H-UO1y :*dgosduondal 0g =Xxews 180'0 =unud 7€ WEdL :daworooed (Tw)dLmoeroll
1€’ =Drds ‘8xL ol 19Hadagou €144 dogndyl :(eW2)0) WiKad Z08S0Z 5N £-1Ig 19URLADMKKG
Pq 917 1-{2)h-Z08S0¢-L18 -xeumed g 19auxde "HROLAD W S198008H :9dogudu 9I9HHBEOHBLIA
0£/05T »wmdeds seHOAdLXASY (BUHIROILNTOU BWX) KEHIUDLON BEXDE3H BZ WMHhOLU
IELKA I OHLI9WE0D aLesudiBwdIRd 90-£b-€1€ (218) HodRLRL KeLHOp LxeddHU, OO0 suheeneido sEmoeamIAI00
(ELAA TON 7z senaododden :dadywodL) Sa.+0m / gz sexeododded “ydhgdaLay-DiHe) *J 1y
JE1+0MND 1BL3hA UBEA :HoGRUB L :dososolf BHOWRY OJOWIEH TN HLHIHOOY

910z 9dgesalf € E1AA wedogndu OU MMHALGRALOLOULBL O 13RO



